
*** BILL OF MATERIAL - TMH262SS (25005844) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 1/4-20 X 75225X75HSSB0023991
HEX NUT,1/4" STAINLESS STEEL225HSSN0584932
1/4 FLAT WASHER, STAINLESS STEEL425FWSS0602183
1/4 SPLIT WASHER LW LT225SWSSLT0606724

*** BILL OF MATERIAL - TMH263SS (25005846) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 1/4-20 X 100225X100HSSB0540651
HEX NUT,1/4" STAINLESS STEEL225HSSN0584932
1/4 FLAT WASHER, STAINLESS STEEL425FWSS0602183
1/4 SPLIT WASHER LW LT 225SWSSLT0606724

*** BILL OF MATERIAL - TMH325SS (26001369) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 1/4-20 X 1.25225X125HSSB250216021
BOLT, SSTL, HEX HEAD 1/4-20 X 100225X100HSSB0540652
25X20-7/8"HEXBLT SS225X88HSSB260020933
BOLT, SSTL, HEX HEAD 1/4-20 X 75225X75HSSB0023994
25X20-5/8"HEXBLT SS225X62HSSB260020895
25X20-1/2"HEXBLT-SS225X50HSSB260020886
HEX NUT,1/4" STAINLESS STEEL225HSSN0584937
25X515 FLAT WASHER SS425X515FWSS260020908
25X734 FLAT WASHER SS425X734FWSS260020919
1/4 SPLIT LOCK WASHER LT, STAINLESS STEEL225SWSSLT06067210

*** BILL OF MATERIAL - TMH323SS (001914) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 1/4-20 X 75125X75HSSB0023991
HEX NUT,1/4" STAINLESS STEEL125HSSN0584932
1/4 HEAVY DUTY LOCKWASHER125SWSSED0024003

*** BILL OF MATERIAL - TMH264SS (25005847) *** 

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT, SSTL, HEX HEAD 1/4-20 X 1.25225X125HSSB250216021
HEX NUT,1/4" STAINLESS STEEL225HSSN0584932
1/4 FLAT WASHER, STAINLESS STEEL425FWSS0602183
1/4 SPLIT LOCK WASHER LT, STAINLESS STEEL225SWSSLT0606724

*** BILL OF MATERIAL - TMH265SS (26001360) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 1/4-20 X 1.50225X150HSSB260018101
HEX NUT,1/4" STAINLESS STEEL225HSSN0584932
1/4 FLAT WASHER, STAINLESS STEEL425FWSS0602183
1/4 SPLIT LOCK WASHER, STAINLESS STEEL225SWSSLT0606724

*** BILL OF MATERIAL - TMH322SS (001913) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

#10-32 SLOT HEX WASH HD MCH SCW11032X87SHWHMSSS0023971
HEX NUT, #10-32 FINISHED SS11032HXNT0240852
#10 HEAVY DUTY LOCKWASHER110SWSSED0023983

REV
SIZE

DRAWING NO

D
50047604
SHEET 1  OF 3 

B

CAT.  NO:
ITEM NO:

STAINLESS STEEL TONGUE MOUNTING HARDWARE
SEE TABLE
SEE TABLE

DRAWN BY:
CHECKER:
DSN APRVL:
MFG APRVL:
QA APRVL:
MKT APRVL:
PROD FAM:
PROJECT #:
DOCUMENT TYPE:
REL LEVEL:

SURESH BABU
J.MICHAUD
J.MICHAUD
--

7/29/2014
7/30/2014

 

PRODUCTION
Released

TO ORDER BURNDY® PRODUCTS CALL
 

UNITED STATES
1-800-346-4175 (LONDONDERRY, NH)

 
CANADA:

1-800-361-6975 (QUEBEC)
1-800-387-6487 (ALL OTHER PROVINCES)

 
FOR PRODUCT INFO: http://www.burndy.com

 

7/30/2014

C.KOWALCZYK
R.CAVANAUGH
OTHER WIRING ACCESSORIES

7/30/2014
7/30/2014

REV DATE DESCRIPTION ECO BY C'H'K.
B 04/17/2015 FOCUS REQUEST#FPN1504060 39930 AS MB

1/4"  DIA. BOLTS

#10-32 BOLTS



*** BILL OF MATERIAL - TMH267SS (26001362) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

HEX HD BOLT, 3/8-16 X 1.00 SSTL238X100HSSB0025201
HEX NUT, 3/8-16  FINISHED SS238CHXNT0241002
3/8 FLAT WASHER, STAINLESS STEEL438FWSS0354023
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600024

*** BILL OF MATERIAL - TMH268SS (26001363) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

HEX HD BOLT, 3/8-16 X 1.25 SSTL238X125HSSB0545151

HEX NUT, 3/8-16  FINISHED SS238CHXNT0241002
3/8 FLAT WASHER, STAINLESS STEEL438FWSS0354023
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600024

*** BILL OF MATERIAL - TMH269SS (26001364) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 3/8-16 X 1.50238X150HSSB0002351
HEX NUT, 3/8-16  FINISHED SS238CHXNT0241002
3/8 FLAT WASHER, STAINLESS STEEL438FWSS0354023
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600024

*** BILL OF MATERIAL - TMH270SS (26001365) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 3/8-16 X 1.75238X175HSSB260018121
HEX NUT, 3/8-16  FINISHED SS238CHXNT0241002
3/8 FLAT WASHER, STAINLESS STEEL438FWSS0354023
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600024

*** BILL OF MATERIAL - TMH271SS (26001366) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

3/8"-16X2"LNG HEX SS BLT238X200HSSB260018021
HEX NUT, 3/8-16  FINISHED SS238CHXNT0241002
3/8 FLAT WASHER, STAINLESS STEEL438FWSS0354023
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600024

*** BILL OF MATERIAL - TMH261SS (26001368) ***  
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

3/8"-16X3"LNG HEX SS BLT238X300HSSB260018011
HEX NUT, 3/8-16  FINISHED SS238CHXNT0241002
3/8 FLAT WASHER, STAINLESS STEEL438FWSS0354023
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600024

*** BILL OF MATERIAL - TMH266SS (26001361)*** 

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
3/8"-16X3/4"LNG HEX SS BLT238X75HSSB260018001
HEX NUT, 3/8-16  FINISHED SS238CHXNT0241002
3/8 FLAT WASHER, STAINLESS STEEL438FWSS0354023
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600024

*** BILL OF MATERIAL - TMH326SS (26001370) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 3/8-16 X 1.75238X175HSSB260018121
BOLT,SSTL, HEX HEAD 3/8-16 X 1.50238X150HSSB0002352
HEX HD BOLT, 3/8-16 X 1.25 SSTL238X125HSSB0545153
HEX HD BOLT, 3/8-16 X 1.00 SSTL238X100HSSB0025204
BOLT, SSTL, HEX HEAD 3/8-16 X .88238X88HSSB0540645
HEX NUT, 3/8-16 STAINLESS STEEL238HSSN0580056
38X734 FLAT WASHER SS438X734FWSS260020947
3/8 SPLIT LOCK WASHER,  STAINLESS STEEL238SWSSMD0600028

REV
SIZE

DRAWING NO

D
50047604
SHEET 2  OF 3 

B

CAT.  NO:
ITEM NO:

STAINLESS STEEL TONGUE MOUNTING HARDWARE
SEE TABLE
SEE TABLE

DRAWN BY:
CHECKER:
DSN APRVL:
MFG APRVL:
QA APRVL:
MKT APRVL:
PROD FAM:
PROJECT #:
DOCUMENT TYPE:
REL LEVEL:

SURESH BABU
J.MICHAUD
J.MICHAUD
--

7/29/2014
7/30/2014

 

PRODUCTION
Released

TO ORDER BURNDY® PRODUCTS CALL
 

UNITED STATES
1-800-346-4175 (LONDONDERRY, NH)

 
CANADA:

1-800-361-6975 (QUEBEC)
1-800-387-6487 (ALL OTHER PROVINCES)

 
FOR PRODUCT INFO: http://www.burndy.com

 

7/30/2014

C.KOWALCZYK
R.CAVANAUGH
OTHER WIRING ACCESSORIES

7/30/2014
7/30/2014

3/8"  DIA. BOLTS
REV DATE DESCRIPTION ECO BY C'H'K.

B 04/17/2015 FOCUS REQUEST#FPN1504060 39930 AS MB



*** BILL OF MATERIAL  - TMH2844SS (10094201) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,304/305 SS, HEX HEAD 1/2-13 X 2.25150X225HSSBG1100942031
HEX NUT, 1/2-13 SILICON BRONZE150CHEN0581702
1/2 FLAT WASHER, STAINLESS STEEL250X125FWSS100993633
WASHER, BELLEVILLE .500 X 1.060250X106BWSS0600164

*** BILL OF MATERIAL - TMH2844 (10094200) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,304/305 SS, HEX HEAD 1/2-13 X 2.00150X200HSSBG1100942021
HEX NUT, 1/2-13 SILICON BRONZE150CHEN0581702
WASHER, BELLEVILLE .500 X 1.060250X106BWSS0600163

*** BILL OF MATERIAL - TMH340SS (30014783) ***   

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT,SSTL, HEX HEAD 1/2-13 X 3.50450X350HSSB0546961
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL850FWSS0600833
WASHER, BELLEVILLE .500 X 1.060450X106BWSS0600164

*** BILL OF MATERIAL - TMH346SS (30026464) *** 

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT,SSTL, HEX HEAD 1/2-13 X 1.75450X175HSSB0546781
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL850FWSS0600833
WASHER, BELLEVILLE .500 X 1.060450X106BWSS0600164

*** BILL OF MATERIAL - TMH347SS (50030697) ***  

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT,SSTL, HEX HEAD 1/2-13 X 2.00450X200HSSB0546801
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL850FWSS0600833
WASHER, BELLEVILLE .500 X 1.060450X106BWSS0600164

*** BILL OF MATERIAL - TMH3093SS (10101968) ***   
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 2.50450X250HSSB0546901
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL850FWSS0600833
WASHER, BELLEVILLE .500 X 1.060450X106BWSS0600164

*** BILL OF MATERIAL - TMH295SS (26001372) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 1/2-13 X 1.25250X125HSSB260018111
HEX NUT, 1/2-13 STAINLESS STEEL250HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL450FWSS0600833
1/2 SPLIT LOCK WASHER,  STAINLESS STEEL250SWSSMD0607654

*** BILL OF MATERIAL - TMH272SS (26001371) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT, SSTL, HEX HEAD 1/2-13 X 1.50250X150HSSB0540311
HEX NUT, 1/2-13 STAINLESS STEEL250HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL450FWSS0600833
1/2 SPLIT LOCK WASHER,  STAINLESS STEEL250SWSSMD0607654

*** BILL OF MATERIAL - TMH294SS (26002494) *** 
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 1.75250X175HSSB0546781
HEX NUT, 1/2-13 STAINLESS STEEL250HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL450FWSS0600833
1/2 SPLIT LOCK WASHER,  STAINLESS STEEL250SWSSMD0607654

*** BILL OF MATERIAL - TMH337SS (10112889) ***  
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 2.75450X275HSSB0540251
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL850X106FWSSOBS0602803
WASHER, BELLEVILLE .500 X 1.060450X106BWSS0600164

*** BILL OF MATERIAL - TMH334 (10109662) ***  

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT,SSTL, HEX HEAD 1/2-13 X 2.00450X200HSSB0546801
HEX NUT, 1/2-13 SILICON BRONZE450CHEN0581702
1/2 FLAT WASHER, STAINLESS STEEL850FWSS0600833
WASHER, BELLEVILLE .500 X 1.060450X106BWSS0600164

*** BILL OF MATERIAL - TMH333 (10103230) ***  
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 2.001050X200HSSB0546801
HEX NUT, 1/2-13 SILICON BRONZE1050CHEN0581702
1/2 FLAT WASHER, STAINLESS STEEL2050FWSS0600833
WASHER, BELLEVILLE .500 X 1.1201050X112BWSS101085234

*** BILL OF MATERIAL - TMH308 (048420) ***  

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT,SSTL, HEX HEAD 1/2-13 X 2.001250X200HSSB0546801
HEX NUT, 1/2-13 SILICON BRONZE1250CHEN0581702
1/2 FLAT WASHER, STAINLESS STEEL2450FWSS0600833
WASHER, BELLEVILLE .500 X 1.0601250X106BWSS0600164

*** BILL OF MATERIAL - TMH94 (10068198) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 2.00450X200HSSB0546801
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL450FWSS0600833
1/2 SPLIT WASHER,  STAINLESS STEEL450SWSS100643344

*** BILL OF MATERIAL - TMH69SS (10015115) ***  

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT,SSTL, HEX HEAD 1/2-13 X 2.00250X200HSSB0546801
HEX NUT, 1/2-13 STAINLESS STEEL250HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL450FWSS0600833
1/2 SPLIT LOCK WASHER,  STAINLESS STEEL250SWSSMD0607654

*** BILL OF MATERIAL - TMH28 (10068199) ***

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.
BOLT,SSTL, HEX HEAD 1/2-13 X 2.25450X225HSSB0540471
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL450FWSS0600833
1/2 SPLIT LOCK WASHER,  STAINLESS STEEL450SWSSMD0607654

*** BILL OF MATERIAL - TMH348SS (50024022) *** 

DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 2.25450X225HSSB0540471
HEX NUT, 1/2-13 STAINLESS STEEL450HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL850FWSS0600833
WASHER, BELLEVILLE .500 X 1.060450X106BWSS0600164

REV
SIZE

DRAWING NO

D
50047604
SHEET 3  OF 3 

B

CAT.  NO:
ITEM NO:

STAINLESS STEEL TONGUE MOUNTING HARDWARE
SEE TABLE
SEE TABLE

DRAWN BY:
CHECKER:
DSN APRVL:
MFG APRVL:
QA APRVL:
MKT APRVL:
PROD FAM:
PROJECT #:
DOCUMENT TYPE:
REL LEVEL:

SURESH BABU
J.MICHAUD
J.MICHAUD
--

7/29/2014
7/30/2014

 

PRODUCTION
Released

TO ORDER BURNDY® PRODUCTS CALL
 

UNITED STATES
1-800-346-4175 (LONDONDERRY, NH)

 
CANADA:

1-800-361-6975 (QUEBEC)
1-800-387-6487 (ALL OTHER PROVINCES)

 
FOR PRODUCT INFO: http://www.burndy.com

 

7/30/2014

C.KOWALCZYK
R.CAVANAUGH
OTHER WIRING ACCESSORIES

7/30/2014
7/30/2014

*** BILL OF MATERIAL- TMH308SS (50058562) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 2.001250X200HSSB0546801
HEX NUT, 1/2-13 STAINLESS STEEL1250HSSN0586952
1/2 FLAT WASHER, STAINLESS STEEL2450FWSS0600833
WASHER, BELLEVILLE .500 X 1.0601250X106BWSS0600164

*** BILL OF MATERIAL TMH286SS (50058563) ***
DESCRIPTIONQTYCATALOG NO.ITEM NUMBERPT NO.

BOLT,SSTL, HEX HEAD 1/2-13 X 1.755050X175HSSB0546781
HEX NUT, 1/2-13 STAINLESS STEEL5050HSSN0586952
1/2 SPLIT WASHER,  STAINLESS STEEL5050SWSS100643343

REV DATE DESCRIPTION ECO BY C'H'K.

B 04/17/2015 FOCUS REQUEST#FPN1504060 39930 AS MB1/2"  DIA. BOLTS


